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Read the following instructions carefully before you
answer the questions. Answers should be given on
a SEPARATE ANSWER SHEET:

1. Please write your Centre Code No. and Roll No.

very clearly (only one digit in one block) as given
in your Admit Card. No block is left unfilled and
Zeros appearing in the Centre Code No. and Roll
MNo. are comectly transferred to the appropriate
blocks on the booklet and on the Answer Sheet.
For example,
The student with Roll No. 7 appearing
National Means Cum Merit Scholarship Exam
from Lucknow first Centre Code No. 0042 will
make entries as below:

for

State Code Year Centre Code Roll No. in Figures
a[1] [2[4] [ofo[4[2] [o[o]7]

Your Centre Code No. and Roll No. shall ramain the
same as given on your Admit Card.
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2 The test Booklet is devided into two parts. Each

part has 90 questions.

3. All Questions carry one mark each.

4. All questions are compulsory, do not waste your
time, )
5. Begin with the first question and keep on By

one question after another till you finish it.

6. If you do not know the answer to any question,
do not spend much time on it and pass on to
the next one. If time permits, you can come
back to the questions which you have left in the
first instance and try them again.

7 Since the time allotted for the question paper is
very limited, you should make the best use of it.

8. Blank pages have been provided for rough work
at the end of test booklets.

9. Remember, you have to mark answer on the
separate Answer Sheet.

10.The Answer Sheet has two specific parts. Be
sure that on the (Par-l) GMAT (Serial No. 1 to
90) is to be answered. On the other (Part-li)
SAT (Serial No. 91 to 180) is to be answered.

11.Answer to each question is to be indicated by
writing the number of the correct alternative in
the answer sheet in the box provided against
each question,

12.Immediately after 1'/z hours(For Physically
Challenged group 2 hours) you start doing
Part-li(Scholastic Aptitude Test). How you have
to answer the question on that part is stated on
the latter part of the question booklet Part-II.

13.Now turn over Page and start answering the
question.
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GMAT - 2024 PR

25 FeiD T A AR | eft o el 5 Direction: In Question 0110 12 each question has four
i & afiR o 9 o A @ frsr &) st e terms. Three lerms are alike in some way. One lerm is
different from others. Write the number of the term
TR TF WG Wy & aw i - different from others on your answer sheet against the
proper quastion -
Q1)
2) 17 1) 13 217
4) 63 3) 23 4) 63
Q2)
2)32-38 1) 50 - 56 2)32-38
4)63-77 3) 64 - 80 4)83-77
Q3)
2) 24X 1) 18R 2) 24X
4) 12M 3) 22v 4) 12M
Q4)
2) END 1) PUT 2) END
4) ARM 3) OWL 4) ARM
Qs)
2) PIGS 1) OUST 2) PIGS
4) XLPA 3) TERJ 4) XLPA
Qs)
2) JUST - SUTJ 1) WITH - TIHW 2) JUST - SUTJ
4) HAVE - AVEH 3) DONE - NOED 4) HAVE - AVEH
Qn
2) &9 - 2R 1) China - Beljing 2) Russia - Moscow
3) Japan - Singapore 4) Spain - Madrid
Qs)
1) Flute 2) Guitar
3) Violin 4) Harmonium
Q9)
1) Iron 2) Nickel
3) Cobalt 4) Aluminium
Q10)
1) Ear 2) Kidney
3) Lungs 4) Liver
Qi)
1) Wheat 2) Ragi
3) Jowar 4) Mustard
Q12)
1) Telescope 2) Transistor
3) Taperecorder 4) Telephone
B Direction: In question 13 to 27 there are four terms in
each question. The terms left to symbol :: have same
ttﬁa\itﬂhﬁf# U’Imﬂ!’ relationship as the terms of the right to symbol :: .Out of
the four alternatives given below. Find out the correct
alternative and write ils number against the
corresponding questions on your answer sheet.
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54 - . 2) 144
3) 169 4) 196

 Q18) 9:80:100:?
1) 901 2) 1009
3) 9889 4) 9099
Q16) MK:169:JH:?
& 121
1100 - 2) 100
64 81
3)64 4) 81
120 100
Q17), EIGHTY : GIEYTH :: OUTPUT : ?
1) TUOTUP 2) TUOUTP
3) UTOPTU 4) UOTUPT
Q18) CLOSE : DNRWJ :: OPEN : ?
) PRHR 2) PRIQ
- Q19) T - F 2 g 2
N - 2) g

3) 1/ 4)

'l)'iﬂir 2}5'11
D 4) wreft
I‘;'f_ﬂ'l}lm:m::mfnﬁr.? |
) TE 2) Tem

3) R=Framen 4) TR

Q13)5:124:7:7

1) 125 2) 248
3) 342 4) 343
Q14) 49 :81::100:7 u
1) 64 2) 144
3) 169 4) 196
Q15) 9:80::100: 7
1) 601 2) 1009
3) o889 4) 9999
Q16) MK : 169 :: JH : ?
: 121
1) 100 2) 100
64 81
3) 64 4) 81
120 100
G‘!T] EIGHTY : GIEYTH :: OUTPUT : ?
1) TUOTUP 2) TUOUTP
3) UTOPTU 4) UOTUPT
Q18) CLOSE : DNRWJ :: OPEN : ?
"1) PRHR 2) PRIQ
3) RPJB 4) RZWR
Q19) GIANT : DWARF :: GENIUS : 7
1) Wicked 2) Gentle
3) Idiot 4) Tiny
Q20) PAW : CAT :: HOOF : ?
1) Horse 2) Lion
3) Lamb 4) Elephant
Q21) CAR : GARAGE :: AEROPLANE : 7
1) Port 2) Depot
3) Hangar 4) Harbour
Q22) PUSH : PULL :: THROW : ?
“1) Jump 2) Collect
3) Pick 4) Game
Q23) FLOWER : BUD :: PLANT : ?
1) Seed 2) Taste
3) Flower 4) Twig
Q24) EYE : MYOPIA : TEETH ; 7
- 1) Pyorrhea 2) Cataract
3) Trachoma 4) Eczema
Q25) Calendar : Dates :: Dictionary : ?
1) Words 2) Books
3) Language 4) Latters
mp) Fish : Gill :: Human : ?
1) Nose 2) Heart
3) Lungs 4) Mouth
%JAB:W::GH:?
1) 78 2) 87
3) 65 4) 56
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| Q28) 3+5x8+2-10=13

1)+ R - 2) x affv +
- 3)+3IR- 4)+ 3+
© @20) 36+6x10+5-2=63
g+ . 2) + afiv+ 3
- g)xai+ 4) - 3t x
g+l 2)+ 3 x
- g+l 4)- 3R+
il 3x5+3-18+3=12
~ +aRx 2) x 3% -
S gyxafve 4) + 3R -
B) 15+9x 3-74+2=5
q) + 3 - 2) + dv x
3 et 4) - 3z +
| Q33) 16-21+7x6+3=31
1) -3+ 2) + 3R x
3)+3R+ 4) - 3R x

Q34) IR FIfR L K BASE e AR R
. apfy & Prefeiea T & st 252x0.5432492 F
S . HE BT

2) 168
4) 200

- aEfd e T T S B Rl 175-25+6+20x3+10
 waRoEaTE?

E 077 2) 160
22 4) 237

7 @7 14N10L42P2MB=?
v 2) 216
4) 251

Taref -, - @1 3 x, + T af 4 R x T e B

2) 22
4) 52

DRirection: In questions 28 1o 33 there are equations that
have become wrong due 1o wrang order of signs, Choose
the correct order of signs from the four alternatives given
below so that equations become nght, Write its

alternative number on your answer sheet against the
corresponding question number -

Q28) 3+5x8+2-10=13

1) +and - 2)x and +

3) + and - 4) = and +
Q29) 36+6x10+5.-2=63 _

1) +and - 2) +and +

3) xand + 4) - and x
Q30) 64-8x9+8=64

1) +and - 2) +and x

3) +and + 4) - and +
Q31) 3x5+3-18+3=12

1)+ and x 2) x and -

3) x and + 4) + and -
Q32) 15+9x3-74+2=5

1) + and - 2) +and x
A 3) +and + 4) - and +
Q33) 16-21+Tx6+3=31

1)-and + 2) +and x

3) +and + 4) - and x

Q34) If '+ means -, 'x’ means '+,'+' means ‘+' and -
means ‘X' then which of the following will be the value

of expression

252x0-5+32+92 7
1) 95 2) 168
3) 192 4) 200

Q38§ K “+’ means X', 'x’ means "', '+ means '+ and "
means “+ then which of the following gives the result

of 175-25+5+20x3+10 7
1) 77 2) 160
3) 240 4) 237

Q36)- If L stands for +, M stands for -, N stands for X, P
stands for =, then 14N10L42P2M8=7
1) 153 2) 216
3) 248 4) 251
Q37) If + means -, - means x, + means + and x means +
“ then

Pl x, + H A E+ 3N+ asrmi-.amosg If X means +,- means x, + means + and + means -,

15-3+10x5+5="7
15 2) 22
3)48 4) 52
then
{3-15+19)x8+6="7
1)1 2)8
3)4 4)2




TR x @1 3+, + @1 Y +, - DT 3 x, SV + Py oef - AW
Bx7-8+40+2=7

1) 44 272
5
3)83 41
5
Q40) IR @ Rl $Ye BASIC 3 DDULE ferad &1 el e §
LEADER & 3 fovar wman &7
1) NGCFGT 2) NHCGGU
3) OGDFHT 4) OHDGHU
Qa1) af¥ s Al wm § SIGHT # FVTUG ferar s 1 St
e ¥ REVEAL ' = fora o &7
1) YNRIRE 2) DQHAMX
3) FSJSOZ 4) ERIRNY

Q42) 3f2 GOLD Ht HOME & %7 %, COME &I DONE & %1 i
3k CORD #! DOSE & &9 ¥ e i oem & at ang

SONS & &) @1 Fv
1) TPOT 2) TOOT
3) TOOS 4) TONT

Q43) 7% UF FAflT v § GRASP B BMVNK & &9 & #18
a7 ST & &Y R o2 3 CRANE & g § af&a

S
1) FUDQH 2) HWFSJ
3) GVERI 4) XMVIZ
Q44) 3R E=5, PEN=35 & 74 PAGE=?
0z 2)28
3)29 4) 36

Q45) aIf2 GLARE #1 67810 3i¥ MONSOON &1 2395339 & &Y
e fsar Sran 8 &, RANSOM &I ¥ #18 fosr sem

2) 189352
4) 198532

2) 63568
4) 65368

i 47 ¥ 49 F 721 & ol H & v w4l & G

——

Q39) If x means +, + means +, - Means x, and + means .,

than
Bx7-8+40+2=7
1) 44 )72
5
3)83 4)1
5

Q40) In a cerlain code BASIC is written as DDULE. How
LEADER written in that code?
1) NGCFGT 2) NHCGGU
3) OGDFHT 4) OHDGHU
Q41) In a certain language SIGHT is written as FVTUG.
How is REVEAL written in the same?
1) YNRIRE 2) DQHGMX
3) FSJS0Z 4) ERIRNY
Q42) If GOLD is coded as HOME, COME is coded as DONE
and CORD is coded as DOSE. How would you code

SONS. |
1) TPOT 2) TOOT
3) TOOS |4) TONT

Q43) If in a certain language GRASP is coded as BMVNK
~ which word would be oor.'llécl as CRANE?

1) FUDQH | 2) HWFSJ

3) GVERI | a) Xmviz
Q44) If E=5, PEN=35 , then PAGE=7

1) 27 2) 28

3) 20 4) 36

Q45) If GLARE is coded gs 67810 and MONSQOON is
coded as 2395339, then how can RANSOM be

coded?
1) 189532 2) 189352
3) 183952 4) 198532
Q46) If NOIDA is written as 39658 , how will INDIA be
written?
1) 36568 2) 63568
3) 63569 4) 65368

Direction: In questions 47 to 49 there are equalions that
have become wrong due to wrong order of signs. Choose
the correct order of signs from the four alternatives given
below so that equations become right. Wrile its
alternative numbecl' on your answer sheet against the

corresponding que:stion number -
Q47) 51+3+17x2-12=10
1) + and x 2) +and +
3)-and x 4) + and x
Q48) 9+7+3x2-22=-1
1) xand - 2) +and +
3) +and x 4) + and +




j49) T1% P FIOMG AR+ B R X B, S - M aw T v B
,1:" ~ 5ROP7S9T3P6=7
s nss

i 5% 50 W 61 T A AN Ge ¥ | W - dandf av

3 e g & S 57 5 A R e R @ s
R Y IR 6T 71 T B W W e 5 W

i O W
'_ e AR s R 2 n

1) A 2) @

lﬁﬁm 4) "fte
m:ﬁﬂgi'::lﬁﬂ’ﬂ ?

) AT 2) wfoe
T 4) IEUTE Hew
7:32:8:7

2) 34
4) 36
: BieW s A0 ?
g 2) gt
: 4) TEY BT
B.: 0.0008 :: 0.16: ?
2) 0.0016
4) 0.00016
=7
2) ffER

4) FTEAR

2) FEAE
4) T I

2) dFerier
4) BTEUTIRY

2) VTRP

, 4) MNPQ
- ALTPE :: PAPER : ?

2) ARPEP

4) RAPEP

mm

Q49) f P means '+", R'', S'-' and T '+'. Then

SROP7SATIPE=7
1) 54 2) 55
3) 60 4) 50
Direction: In question 50 to 61 there are four terms in

each question. The terms left to symbol :: have same
relationship as the terms of the right to symbol :: .Out of
the four one term is missing which is one of the four
alternatives given below. Find out the correct alternative
and write its number against the corresponding guestion
on your answer sheet.

Q50) Hindu : Temple :: Sikh : 7

1) Gurudwara 2) Church
3) Medina 4) Mosque
Q51) Assam : Dispur :: Kohima : 7
1) Nagaland 2) Manipur
3) Mizoram 4) Arunchal Pradesh
Q82)7:32::8:7
1) 33 2) 34
3) 35 4) 36
Q53) Singapore : Dollar :: Yen:?
1) Bangladesh 2) Ukraine
3) Japan 4) South Korea
Q54) 0.08:0.0008 ::0.16: 7
1) 0.016 2) 0.0016
3) D.16 4) 0.00016
Q55) Sunday : Tuesday = Waednesday : 7
1) Friday 2) Saturday
3) Monday 4) Tuesday
Q56) Ink : Paper :: Chalk : ?
1) Wall 2) Hard-Board
3) Black-Board 4) Carbon Paper
Q57) Light : Candle :: Temperature : ?
1) Glucometer 2) Lactometer
3) Thermometer 4) Hygrometer
| Q58) HJLN : MKIG :: QSUW : ?
1) SRTV 2) VTRP
3) RPTV 4) MNPQ
Q59) PLATE : ALTPE :: PAPER: ?
1) PEPAR 2) ARPEP
3) PAEPR 4) RAPEP
Q60) Uttar Pradesh : Hindi :: Marathi : 7
1) Tamilnadu 2) Maharashitra
3) Kerala 4) Punjab
Q61) Cardiologist : Heart :: Zoology : ?
1) Insect 2) Plants :
3) Animals 4) Dead and decaying




Prler; 7w 62 ¥ 64 F 27 wH B 5 H ¥ forg Pl
ST T T 3 |

i)

Q62) a%ﬁz#ﬂ sepfevat & = &7

12 2)6
37 48
Q63) T HeEATSH BT 4 U1 & A e &) AR F grafua
L
1) 10 2) 14
3) 18 4) 16
Qe4) it amgforal & wrafPue wem @) Fae e & weafua
AT 5 AT o ) oo T BRI
1) 14 2) 35
3) 49 4) 29

Brer: s s 65 ¥ 77 W/ GiER & A0 9 o e &
el Avft ¥ g v o e e (2) & ufar & A Ry
AR fagedt § & o ve P e Hifd o e e o ad

W W ¥ P A0 SR e o R |
Qes) 2,5, 19, 37,7
1) 73 2) 75
- 376 4) 78
| Q66) 4,828, 80, 244, 7
~ 1)278 2) 428
4) 728
6G, 111, 18L, ?
2) 25N
4) 27P
R U X A D,?
. 2)G
41
, 00S, NQR, MSQ, ?
2) LVP
: 4) LWP
__ba_ab
i 2) abbab
. &)bbaba
whoa &S
- ' 2) aabaa
_n_sn_a_ma_
2) ammanm

4) amammn

e,

Direction: In question 6210 64 study the following
diagram to answer these questions.

[1]4

67|28

a_2
Q62) Which number is inside all the three figures?
1) 2 2)8
3)7 4)8
Q@63) What is the sum of the numbers which belong to twe
figures only?
1) 10 2) 14
3) 18 4) 16
Q84) Multiply the number which belongs to all the thres
figures with the sum of the numbers which belong to
the triangle only. What is the result?
1) 14 2) 35
3) 49 4) 29

Direction: In question 65 to 77 are based on number /
letter series. In each series missing term is indicated by
question mark (7). Find out the missing term out of the
four altematives given below and write its alternative
number against the comrect question number on your
answer sheet -

Qeé5) 2, 5, 19, 37, 7

1) 73 2) 75

3) 76 4) 78
Q66) 4, 8, 28, B0, 244, 7

1) 278 2) 428

3) 628 4) 728
Q67) 3F, 6G, 111, 18L, 7

1) 21Q 2) 25N

3) 25P 4) 27P
Q68) R, U, X A D, 7

1) F 2)G

3)H 4) |
Q69) PMT, OOS, NQR, MSQ, ?

1) LUP 2) LVP

3) LVR 4) LWP
Q70) ____aba____ba__ab

1) abbba 2) abbab

3) baabb 4) bbaba
Qri)ab_ _bea_ __ ab__

1) aaaaa 2) aabaa

3) aabab 4) baabb
Q72)m_nm_n_an__ a__ma__

1) aamnan 2) ammanm

3) aammnn 4) amammn

L

8 Contd.




1) abaab 2) abbab
3) 4) bbabb
T4) __ stt__tt__ts__
1) tsts 2) ttst
3) ssit 4) tsst
ars) _op__mo_n___ pamop __
1) mnpmon 2) mpnmop
i 3) mnompn 4) mnpomn
. Q7e) __nmmn__mmnn _ monm __
3 : 1) nmmn > 2) mnnm
5 3) nnmm ! 4) nmnm
T T T T
' 1) rtusru 2) rsutrr
3) rsurtr 4) rsurts

 frtfer: v 76-85 ¥ R 7 ¥ U S RA M 1 e e
Eé;m‘fﬁmm#ﬁhmmm #frer ford g et &
2 e R A & R o o i T Y e B g Y
| o o e & e S g R o e 4 e
e ) S A R A R @ e st 9w s

Olso

Q73)a_ba_b_b a p

1) abaab 2) abbab

3) aabba 4) bbabb
Q74) __stt_n_ us

1) tsts 2) tst

3) sstt 4) tsst
Q78) _op_mo__n____ pomop__

1) mnpmon 2) mpnmop

3) mnompn 4) mnpomn
Q76) __nmmn_mmnn __ mnnm

1) nmmn 2) mnnm

3) namm 4) nmnm
Qr7) _twu__rt__s__ _ ustu__

1} rtusru 2) rsutrr

3) rsurir 4) rsuris
Direction- For question 78 to 85 four sets of circles has

been given below. three circles of set have some relation
with each other. Questions given below have three words
each which are also related to each other in some way.
This relation between words is similar to that in one of the
sets of circles. Find it out from the four options given
below each guestion and write its serial number against

corresponding question number on your answer sheet-
1 2 .

06T

Q78) Week, Day , Year

2)2 1) 3 2)2
44 3) 1 4)4
Q79) Vehicle, Bus, Car
2)1 1)2 2) 1
4)3 3) 4 4)3
QB0) Judge, Thief, Criminal
2)3 12 2)3
41 3)4 4)1
Q81) Mustard, Barley, Potato
2)3 1) 4 2)3
41 3)2 41
Q82) Bouquet, Flowers, Petals
2)1 1)2 21
4)3 3)4 4)3
Q83) Atom, Profon, Electron
2)1 114 2)1
4)3 3)2 4)3
g, wftwerrar Q84) Honesty, Intelligence, Aptitude
' 2)3 1)4 2)3
4)1 3)2 41
] Contd.




Q8s) 2y, B, wgee

701 2)2

33 4)4
Prfer: vwes W00 g Efs P, QR S R TH
geare Raadt &, @@ s faand & affw o it faard) &1
P afie s afanfRe sftemy & it fasdt oft der & wor =t forn
&1 § oft sfen st 3 Geaer B Raerd 1l & 7wl
RafRasere T Rme oy d o R oo s &t

siave Raendt & ol 7 & &1 Raand) &1
Qee) i fReendh @i i
17HP 2)Q
IR 97
Q87) v Raenel i 87
1Q 2)R
3)s aHT
Qes) T#H U B2
NP 2)Q
3)R 4) s

2)Q,R S
4)P.R, S

2)Q
45

Q85) Teacher, College, Student
)i 2)2
3)3 4)4

Direction; In question 86 to 90 there are five persons p,
Q, R, S and T. One is fooltball player, one is chess player
and one Is hockey player. P and S are unmarried ladies
and do not participate in any game. None of the ladies
play chess and football. There is a married couple in
which T is the husband. Q is the brother of R and is
neither a chess player nor a hockey player.

Q86) Who is the hackey player?

1P 2)Q

3)R 4T
Q87) Who is the chess player?

17)Q 2)R

3)s 4T
Q88) Wha is the wife of T?

19)P 2)Q

3R 4 s
Q89) The three ladies are-

1HP.Q.R 2)Q,R,S

3)P.Q.S 4P.R S
Q90) Who Is the football player?

7P 2)Q

IR 4)S

A&
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(Part - 1)

SCHOLASTIC APTITUDE TEST

Time : 1'/2 hours Full Marks : 90
(For physically challanged group 2 hours)

INSTRUCTIONS FOR THE CANDIDATES

1. This test booklet consists of questions from
three subject as following.

(a) Science
(b) Social Studies
(c) Mathematics

2. Attempt all the question from every subject.
3. Find out the correct alternative from given
four alternatives for each question and write

its number on your answer sheet against
proper question number.

4. Please start your work.

ﬁmmﬁwﬂﬁmmmgﬁaﬁm
*’ﬁmm anything in the booklet except rough work.

1 Contd.




Qe1) v vew faw s o B. Q91) World AIDS day celebrated on-
1) 01 = 2) 02 fawpaR 1) 01-December 2) 02-December
3) 02 3T 4) 14 o 3) 02-October 4) 14-November
Q92) Hreweft der - Q92) Insectivorous plant is-
1) gegoff 2) T8 1) Pitcher Plant 2) China Rose
3) e 4) IS 3) Rose 4) Cuscuta
Q93) W& Q93) Blood is-
1) Tarh e 2) ¥eft a5 1) Connective tissue 2) Muscular tigsye
3) vhtfferam wam 4) A Fas 3) Epithelial tissue 4) Nervous tissye
Q94) arar e famest g &- Q94) External fertilization occurs in-
1) ¥ 2) 5 1) Frog 2) Man
)M 4) T 3) Cow 4) Dog
QO5) IFRAT JaTewor & Q95) Cuscuta is an example of-
1) Sertidt a7 2) =Y 7 1) Saprotroph 2) Autotroph
3) Tt & 4) aftyurEy & 3) Parasite 4) Epiphyte
Q96) TP v 7T it Aoave § o et sefdat Bt &7 Q96) How many bones are there in vertebral column of agys
human?
1) 26 2)33 1) 26 2) 33
3) 28 4) 30 3)28 4) 30
Q97) TRWIEE Ht frt v el & R e &2 Q97) Which microorganism causes the Typhoid disease?
1) fRwroy 2) MESiaT 1) Virus 2) Protozoa
3) St 4) " 3) Bacteria 4) Protein
Qo8) f¥reT a1 Tt 78 &- Q98) Power house of the cell is-
1) e 2) e 1) Golgi Complex 2) Lysosomes
3) sEeE g 4) FoF 3) Mitochondria 4) Nucleus
Q99) Ti=Y ¥ ot &1 yRaET Fr - : Q99) In plants water is transported through-
1) et awy 2) =Y anT 1) Root hairs 2) Stomata
3) TR FRT 4) TEEH ERT 3) Phloem 4) Xylem
Q100) =1 ¥ T & g s 2 &2 Q100) Which of the following animals lays eggs?
1) Smfer 2) Sy 1) Pangolin 2) Platypus
3) H= LS 4) 3alTE 3) Mongose 4) Opossum
Q101) it w5 ¥ wior e F o o gt &7 Q101)Which of the following roots are madify to store food?
1) 3 2) e 1) Potato 2) Ginger
A 4) aredt 3) Carrot 4) Arbi
Q102) ¥ 3% J1eT ! 1 T FEear - Q102) The fusion of male and female gametes is called-
1) AT 1) Fertilization 2) Dispersal
3) faravas 3) Fragmentation 4) Budding
Q103) £y ar frss o 0 g Q103) in the given figure 'O’ is the centre
¥z B 3t ZPQR=700 of the circle and ZPQR=70° 'I
8 ZPeR BT S, Then value of ZPSR is 2 ilz
1) 70° z:snoﬂ 1) 700 2) oo?
3) 110° 4) 1150 3) 110° 4) 1150
Q104) FoH S WIHIA® FeaTs o1 Ay #- Q104) The mean of first ten natural numbers is:-
15 i 2)55 1)5 2)55
. 3)65 s 475 3)6.5 475
Q 105) af Tt 7 =x+1 LR EES F‘lﬂﬁ]Thn roots of the quadratic equation 7-x° = x+1 are-
2. . . 2)-3,2 123 2)-3,2
3)3,-2 4) -3, -2 S

43,2
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(x-7) (x -3x+2)
1) (x-1) 2) (x-2)
- 3)(x-3) 4) (x-7)
ms-J(.ms)x{-zm &5 &-
- 160 2) 65
| 70 475
::.*:;ﬁii'l'il]ﬂ‘&pn‘rﬂ-_tmqﬁm
x? x* ;
E )10 2) 12
34 4) 16
’: M'ﬂﬂwg_ﬂf—%—
ﬂq_tlh' 2) fivsy
3) it 4) TRz
 Q110) R e & R <@ & 1 e @ gt 3 A a1 v ) 9
6t et o g1 i A a1 o -
04w 1 2)1:4dx
ﬂﬁ:z 4)2:in
Q111)33 4 (234 (2022)) 322 AA L
170 2) 1
s B 413

1=ﬁaﬂﬁaﬂraﬂ?ﬁmi4=ﬁﬁwéﬁr#m
@ﬁmﬂmtmwﬂmsﬁﬁﬁ?ﬁ

2) 12 fiex
4}2?#12?

2) 90°
4) 108°

1Q108)value of (x-1) (x-2) (x2-9x+14) is:

(x-T) (x? -3x+2)

1) (x-1) 2) (x-2)

3) (x-3) 4) (x-T)
[Q107)Value of 34 (-125) x (-2744) is-

1) 60 2)65

3)70 4)75
Q108)If x?+1 =6 then the value of x*-1 will be-

x2 x?

1) 10 2) 12

3) 14 416
Q109) The number 8 + {7 is-

3
1) Integer 2) Fraction
3) Irrational 4) Rational

[Q110)Given that the area of the square is equal to % of the
area of a circle. The ratio of the side of the square and
radius of the circle is -

1) \JE 44! 2)1: iI'E
32 42:.4/n
T’" 1) The value of 22+ -2+ (20-22) }-3 22 je-

1)0 2) 1

3)1 4)3
4

- 1Q112)If 3y+z=15, 32+x=13 and 3x+y=8 then the value of
x+y+z will be-
1) 36 2) 18
3) 15 4)9

Q113)If by increasing the length of rectangle by 3 metres and
decreasing the width by 4 metres, its area decraases
by 72 sq metre and by decreasing the length by 1
metre and increasing the width by 4 metre its area
increases by 88 square metre then difference of length
and width of rectangle is-

1) 11 metres 2) 12 metres

3) 16 metres 4) 27 metres

Q114)If the number of sides of a regular polyon is 5 then the

measure of its each interior-angle will be-

1) 54° 2) 90°
3) 60° 41 108°

every year. If the present population of the village is
5760 the population 2 year ago was-

1) 5860 2) 6000

3) 6200 4) 6250
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i 2)1
2 3
31 41
4
Q117)49-1- 1 + 2 & TorFwans &
aZ b? ab
NEF+1+D(7-1+1) 2)(7+1-1D(7-1+1)
a b ab a b a b
HF+1-1)(7+1+1) HT+1+HT+1+1)
ab a b a b ab
Q118) a5 arTerl 5% $I g & are 5226 F 41 T 2,
TSR &1 TR o o1 B
1) 4500 X 2) 50003
3) 5100 4) 5500 ¥
Q119) et 3 o1 dawer (x® + 125) @ grd B, UfE Iud
RIS (x+5) 51E &) o gwdl stgrd a1 gvf?
1) x2+25-10x Ifie 2) x*+25-5x g
3) x2+25+5x Jfe 4) x2+25+10x IFE
Q120) I 5 T S 917 Hiforg, et 9éT &3we 600 em?
&
1) 10 em® 2) 100 cm®
3) 1000 cm? 4) 10000 cm®
@121) (3%+2°)x5° 71 7 &
10 2)2
3) 13 4) 25

Q122) A BT o S5 wpe § 910 R & 98 g e
wad & aif¥ i 1/5 Rl of @ @ o o e gl

# a8 freet i theer wardt 87
1) 2 fn s, 2) 7 st
5 10
3) 1;|_ﬁlrﬂr 4) 12 f At
10
mmmm#aa@hmmmmt
1) ¥R 2) wrgfor 3 ( e )
L 4) - SgerTei it

116) There are two children 1n a ramuy. | ne prodability 4, ?
both children will be gir is-

I

Hni 2)1

2 3

N1 4) 1

4

nﬂT}Facmrsuf-lB-_t-l*-Zm-
a? b? ab

NE+1+1)7-1+1) DE*1-1)7-143)
PR el R ab a b

NT+1-1)(T+1+1) HT+1+D(7+1+1
a b a b a b a b

Q118) An almirah is sold at 5225 after allowing a discount of
5%. Find its marked price.

1) 4500 2 2) 5000 X
3) 51002 4) 5500 2

0119) Area of a rectangle is (x* + 125) square unit, if its
length is (x+5) unit then what will be its breadth?

1) x2+25-10x unit 2) x2425-5x unit
3) xZ+25+5x unit 4) x2+25+10x unit

Q120) Find the volume of a cube whose surface area is
600cm?.
1) 10cm? 2) 100 cm?
3) 1000 e 4) 10000 cm*
121)Value of (3°+2%)x5° will be-
1)0 2)2
3) 13 4) 25

Q122) Moni's house is 9/10 km from her school. She walked
soma distance and then took a bus for 1/5 km to reach
the school. How far did she walk?

1) 2 km 2) 7 km
5 10
3) 11 km 4) 12 km
10 10
Q123) Which of the following energy resources is renewable-
1) Patroleum Oil 2) Natural Gas
3) Coal 4) Earth's Heat-

Geothermal Energy
Q124)Which is correct option for distance and displacement-

2) it < e 1) Distance = 2) Distance < Displacement
Displacement
4) fawemme > &l 3) Distance < 4) Displacement > Distance
Displacement
e ﬁ'(&l) qo REST BT (L) B AT e & [Q125)If angle of incidence is (£ i) and angle of reflection is
(£ r) then according to law of reflection-
ﬂ (£0) >(£r) N (£i)=(£L0) L)L
4) A M E 3 (Li)<(Ln) 4) None of these
e
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1) ZIﬂiﬂnﬁﬁlﬂ
3) 4) T A o it
)20 W 200EEX AT 2) 20 ¥ET A 2000 B
3) 200 BE9T & 2000 BT TF  4) 20 EEA | 20000 B aF
Q128) ST A & w1 wff g .
gy e, e aeg @ 2) gt @ auraeg @
e B
3) AR, Seet quTaeg H 4) Il W qo aeg @
- L
Q120) 7 1 5 BT 2-
1) 10 femEsfie 2) 100 fasetamydies?
3) 1000 fsanmHE 4) 10000 fsararftes
Q130) af 1 e st et -
1) 2)5d
N 4) Frafa
Q131) FEHT BT T TIET B I 3 e qwa & forg
At ot ae 8-
1) 3yraor &1 2) Rastor 31
3 FissH A 4) TR § B

ot =8

Q132) 40°C AT & JT8T Sicy ol P 70°C AT el &
etz e ¥ e fen T 81 fovsTor gt o -

2) 55°C
4) 75°C

2) 30°
4) g°
7 % qofeE § Heg &1 9T BT &-

FH 26) The charge on electron is-

1) Positive 2) Negative

3) Neutral 4) None of these
Q127)Audible range is-

1) 20 Hertz to 200 Hertz 2) 20 Hertz 2000 Hertz

3) 200 Hertz 2000 Hertz ~ 4) 20 Hertz 20000 Hertz
128) Image formed by Concave lens-
1) Virtual, Irect and 2) Real, Irect and

diminished diminished
3) Real, Inverted and 4) Virtual, Irect and
enlarged enlarged
IQ128) The density of water is-
1) 10 kglim? 2) 100 kg/m?
3) 1000 kg/m* 4) 10000 kg/m?

1Q130) The maximum speed of sound is in-

1) Solid 2) Liquid

3) Gas 4) Vaccum

Q131)A non-magnet bar can be distinguished from bar

magnet by sure test of--

1) Attractive force 2) Repulsion

3) No ineraction between  4) None of above
two bars ie. magnetic
and non-magnetic

1Q132) A half litre water at temperature 40°C is mixed with 2
litres water at temperature 70°C, The temperature of

mixture will be-
1) 80°C 2) 55°C
3) 64°C 4) 75°C

o T Y 60° & anafere fbwor & f2re W= @ivr @-jQ133) The angle of reflection for a ray incident at 60° on a

plane mirror will be-

1) 90° 2) 30°
3) 60° 4) 0°
1Q134) The middle colour in the spectrum of light is-
1) Yellow 2) Green
3) Indigo 4) Red
135) —H ||| I=——is symbol of-
1) Baltery 2) Resistance
3) Key 4) Ammeter
|Q1386)Potential difference : Volt :: Resistance : 7
1) Caulomb 2) Ampere
3) Jule 4) Ohm

|Q137) The minimum distance between sound source and

Contd.

ftewihe reflecting plane to hearing clear echo should be -
ﬂ’mﬂ'{ el (When velocity of sound =330 nvs)

2) 36.6 Hiex 1)266m 2) 366 m
: 4) 46,6 X 3) 166 m 4) 46.6 m
mmm It &1 W & L:l'lﬂlwmzh of the following is a source of renewable

R energy-

bt i 2) i gl 1) Wind energy 2) Solar energy
-~ 8 W ‘H“ﬁ 3) Geothermal energy 4) All of the above




Q139) Foeferierm & & @ a1 s areaa b- mﬂ:mlz ‘::: el :;Z:ET
o
e man | Sheen AR
ice
Q140) T eure & W ¥ et Wi B R g
1 ) 2) Hf2 1) Phosphorous 2) Calcium
3) et &) T A 2 7 3) Magnesium jR e 0! the abows
Q141) Bz ey a iy - la141) The symbol of Sodium metal is-
1) So 2)N 1) S0 St
3) Na 4 si 3) Na 8
Q142) Ty fAfaE @1 srres & Q142) An ore of Aluminium-
1) AgzS 2) CaSou. 2H20 1) Ag2S 2) CaSos. 2H:0
3) CuFeS; 4) AO3. 2H20 3) CuFeSz 4) Al20s. 2H20
Q143) swearafdfer aRtad & Sem T §- Q143) Which is not an example of lreversible change-
1) 36 & =&l &1 a1 2) TR & o 1) Formation of curd from  2) Blowing the balloon
milk
3) sgadt @ wo 4) gt & 3) Burning of candle 4) Burning of incense
Q144) 71 F aereftorT w1 wftr 8- : Q144) Percentage of oxygen in air Is-
1) 78% 2) 21% 1) 78% 2) 21%
3) 0.03% 4) 0.07% 3) 0.03% 4) 0.07%
Q145) 3T o o fisg a7 o 8- Q145) Reason for ozone layer depletion is-
1) et FeEo 2) 97y e 1) Water Pollution 2) Air Pollution
3) eafy wegwor 4) IHH 7 & HrE 3) Sound Pollution 4) None of the above
Q146) Tl 37U SR FaT - Q146) The first session of the Congress was held in the yea-
1)1885§ 7 2) 1880 & & 1) 1885 AD 2) 1880 AD
3) 1886 € ¥ 4) 1890 £ & 3) 1886 AD 4) 1890 AD
Q147) 7E T 6 TATHT $- Q147)Brahma Samaj was established by-
1) = RdEE= A 2) AT I HIET T A 1) Swami Vivekanand 2) Raja Ram Mohan Rai
3) FFE e A 4) FEET Tiids T A 3) Dayanand Saraswati  4) Mahadev Govind
Ranade
Q148) 3@ & @ R & o [Q148)Who discovered 'America'?
1) Bl 2) AT 1) Hawkins 2) Vasco Da Gama
3) W e A 4) Bl 3) Sir Thomos Roe 4) Columbus
Q149) Frer § Gdwe i w1 gy et smr Q149)Which European trader came to India first?
1) 3= 2) et 1) British 2) Portuguese
3) W 4) =9 3) French 4) Dutch
Q150) T8t 397 @7 SRS B o417 (Q150)Who was the founder of the Bahamani dynasty?
1) farms aew+t 2) BE 1) Firoz Shah Bahmani  2) Hasan Gangu
3) T55% 74T 4) gﬁmma g 3) Mehmud Gawan 4) Krishnadeva Raya
Q151) FRYER st 7 Fsfor - jQ151) Fatehpur Sikri was built by-
1) §F A 2) IRMES 1) Humayun 2) Sher shah
BEE 4) G A 3) Akbar 4) Khusro
Q152) "spavrT i foran ar? 10152) Who wrote'Akabarnama'?
1) I T 2) T 1) Abul Fajal 2) Babar
3 4) G 3) Humayun 4) Khusaro
o1 HYH g 4 g1 11 41? Q153) When was the first Batlle of ‘Tarain’ fought?
' 2) 1191 1) 1194 2) 1191
4) 1193 3) 1192 4) 1193
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Q154) 3 € T TERITIS B UT?

1) TERIR =t 2) Wda
3) wreAT™ 4) TR 45
Q155) W@ TS 3 T B ES B 87
1) FifeeT 2) e
3) TR 4) Tefer
Q156) ¥t &9 & TEuTE i ar?
1) T A 2) yoE
3) geafte g 4) fafesrane
Q157) drer qeRwE fr o F R &7
1) T = 2) &R
3) TR 4) TR
Q1s8) il = B -
(3n i wa - Het va
(@) - T g
1) (30 7o (@) At 2) () co (3) @Y

4) &I (4)

ﬂwm

la154)Who was the founder of Jainism?

1) Mahavir Swami 2) Rishabhadev

3) Parshvanath 4) Mahatma Buddha
[Q155)Who wrote the famous book "Arthashastra’?

1) Kautilya 2) Megasthenes

3) Kalhan 4) Patanjali

1Q156)Who was the founder of Mauryan dynasty?
1) Chandragupta Maurya  2) Ashoka

3} Pushyamitra Shunga 4) Bimbisara
1Q157) In which state is "Lothal’ site located?

1) Punjab 2) Haryana
3) Rajasthan 4) Gujarat
|Q158)Choose the correct pair-

(a) Trade wind - Seasonal wind
(b} Loo - Local wind

1) (a) and (b) 2) (b) and (a)
3) Only (a) 4) Only(b)
Q158) The rock which is made up of mollen magma |s-
1) Igneous 2) Sedimentary
3) Limestone 4) Matamorphic

Q160)When precipitation comes down to the earth in the
liquid form; we called it as-

1) Cloud 2) Rain
3) Snow 4) Wind
5 ; il Contd.
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o e s R e renanderms omed by sndergod vl -
1) Reirenge 2) 7, SR B T 1) smc:uem B s y
3) %Y 4) A1 BT e AL S
Q162) R seeer fasa TerT 3 e &7 la162) Victoria Desert is located in which continent?
2) Africa
1) v 2) sfita 1) Asia
3) sirefer 4) Tadt afRa 3) Australia 4 North America .
Q163) FATUAT 2011 ¥ SRR TR H3 B A0 E- la163) According to ‘Census 2011 the population density of
Uttar Pradesh is-
1) 850 =f Wi af 2) 826 ifes wfd o 1) 860 Persans per square 2) 826 Persons per squars
et feinites Kilometer kilometer
3) 812 =f wfdy af 4) 820 =rfen wfey of 3) 812 Persons per square 4) 829 Persons per square
feitftey fteftes kilometer Kllometer
Q164) et &7 TAH FTRD WIT ST &- lQ164) The innermost part of the earth is called-
1) i 2) e 1) Earth crust 2) Mentle
3)FE 4) & 3) Core 4) Rock
Q165) @l w5 ot S T la165)Which one is a cold current?
1) T FH 2) e &t urr 1) Gulf Stream 2) Labrador Current
3) Wﬁ o 4) JFEA 3) Kuroshio Current 4) Monsoon
Q166) Bl G A < it s T |Q168) Which is the tributary of Brahmaputra River?
1) T 2) T3 1) Ghaghra 2) Gandak
3) Sfdar 4) FRh 3) Lohit 4) Kosi
Q167) Frel g gl arft #- IQ167) Black soll Is found in—
1) T 2) STE HeW 1) Punjab 2) Arunachal Pradesh
3) TR 4) HERT 3) Rajasthan 4) Maharashtra
Q168) T HuF & g1 & forg gefleam &1 s fieeft Bt &2 jQ168)What is the age of the candidate for the election of
village head?
192134 2) 20 7 1) 21 years 2) 20 years
3) 259 4) 30 2§ 3) 25 years 4) 30 years
Q169) ST BT Ioi [y Fees = four war €2 |Q169)In which article the aboliion of untouchability is
mentioned?
1) 14 2) 15 1) 14 2) 15
'3)16 4) 17 3) 16 4) 17
Q170) 5 Sreee & ee ASCufer Y &1 S @ AiftTe W €7 Q170) Under which article The President has the right to
Pardon?
B 2) 68 1) 61 2) 68
3) 2 4) 70 3) 72 4) 70
m;“nmﬂi et apee o7 Q1T1)Who was The Permanent President of the Constitusnt
o s Assembly? ?
1) . IS TS 2) &R, arEa 1) Dr. Rajendra Prasad ~ 2) B.R. Ambedkar
3) H.o. gt 4) & . 7= 3) K-M. Munshi 4) BN. Rao
Q172) FTEHA & Yauret E? IQ172)Who is the Governor of Uttar Pradesh?
1) @t 7 2) WY USRI 1) Draupadi Murmu 2) Ramesh Bhandari
& ?)m & gee 4) w0 48 3) Anandi Ben Patel 4) Swatantra singh
Q173) fiet ¥ srerfires férer it e o - [Q173) A person who amanges and supervises primary
education in the district-
1) 3gH 2) e afsas e arfeardt 1) The Commissioner  2) The District Basic
Education Officer
: 4) T R sifesn 3) The District Magistrate  4) The Chief Development
Officer
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Q174) =1 & o q@ At & siea e aren 87

1) s &1 SftwR 2) FEF @ it
3) F=ft & SfER 4) avr & Rrog iR
Q17s) FeaitEa 3 3 $1 a1 v wvadf g o ¢
1) g 2) foreym
3) Y@ 4) 3 e
Q176) wigrr & Oa o & @ & a7 Rt a e o 2
1) T A 2)aaw
s faar 4) IR TR -
Q177) Hifers siftrrt 6 gearn &
14 2)5
3)6 47
Qi78) sl A gt et srpafei &7
1) 10 2) 11
312 4)13
Q179) efr 3 T wET ¥ Hewd! &) e A iy
1) 245 2) 250
3) 235 4) 230
Q180) 750 & Hife-feeres o F dur anfire =t #2
1) FEN TEIT 2) Wit $i T
- 3) St 1 F 4) B0 &7 T

|Q174)Which of the following does not come under

Fundamental Rights?
1) Right to freedom 2) Right to equality
3) Right o property 4) Right against exploitation
1Q175)Which of the following subject is in the concurrent list?
1) Paolice 2) Education
3) Railway 4) Foreign affairs
[Q176)At least how many sessions are called in one year of
Lok Sabha?
1) Once 2) Twice
3) Three times 4) Four times
1Q177) How many fundamental rights are there in the
constitution?
1) 4 2)5
36 4)7
1Q178) How many schedules are lhere in the constitution?
1) 10 211
3) 12 4) 13
1Q179) How many members are thera in Rajya Sabha?
1) 245 2) 250
3) 235 4) 230
|Q180)What is not included in the Directive Principles of State
Policy?
1) Cottage Industry 2) Protection of animals
3) End of litles 4) Raspect the Flag




